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AT — ton C C ppm ppm mg/Nm’ ppm ppm
E A — — 800Lk | [ 20004 F [ 1002 F | 2084 F | 208 F | 2504 F | 5624 F
1 | K [ R 189 929 191 0 5 0 16 33
2 | K| \IBRY 189 925 196 0 4 0 17 32
3 | & | vIBY 193 929 198 0 4 0 17 33
4 | | TR 191 926 190 0 5 0 17 33
5 | B | AIRRY 192 926 191 0 5 0 17 34
6 | A | AIY 185 928 191 0 5 0 17 34
7 | k| TR 185 925 191 0 4 0 17 36
8 | K | "IBRY 185 924 196 1 4 0 18 35
9 | K | "IBY 195 920 196 1 4 0 19 37
10 | & | /&Y 198 931 196 1 4 0 19 37
11 [ &= | Ak 197 930 196 1 2 0 11 35
12 | B [ I 185 916 191 1 2 0 12 32
13| A | \igY 184 925 190 0 4 0 15 34
14 | k| /IR 193 927 194 0 3 0 13 32
15 | K | Ak 181 931 191 0 2 0 8 30
16 | K | Al Y 188 925 191 0 3 0 12 29
17 | & | /Ry 186 929 190 1 2 0 17 36
18 | + | ik 192 930 191 0 3 0 17 35
19 | B [ Ik 194 929 191 0 3 0 16 36
20 | A | "Ik 188 938 191 0 4 0 17 34
21 | k| "I 190 938 191 1 5 0 17 36
22 | K | AR 189 933 190 2 4 0 17 33
23 | K | "R 186 934 190 2 5 0 17 35
24 | & | AIBRRY 190 924 190 2 5 0 17 33
25 | + | AR 185 922 191 1 6 0 17 34
26 | H | "I 183 917 191 1 5 0 17 31
27 | A | ik 183 926 190 1 5 0 16 33
28 | K | AR 188 926 190 1 5 0 17 32
29 | K | Arigkm 182 927 190 1 5 0 17 32
30 | K| Ak 183 930 190 1 5 0 17 32
% K — 198 938 198 2 6 0 19 37
% /D — 181 916 190 0 2 0 8 29
Y — 188 927 192 1 4 0 16 34
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BT — ton C C ppm ppm mg/Nm’ ppm ppm
% PR — — 8002k I [ 20084 F [ 100LLF | 2080 F | 2084 F | 2504 F | 5624 F
1| K 2 1k 0 =ik = 1k = 1k = 1k (=315 = 1k = 1k
2 | K {2 1k 0 =ik 2 1k = 1k 2 1k & 1k 2 1k 12 1k
3 | & 12 1k 0f =1k 12 1k 12 1k & 1k & 1k 2 1k 12 1k
4 | + = 1k 0 =1k = 1k = 1k 2 1k 2 1k = 1k = 1k
5 H 2 1k 0 =ik 12 1k 12 1k & 1k & 1k 2 1k 12 1k
6 | A {2 1k 0 =ik = 1k = 1k = 1k = 1k = 1k = 1k
7|k 2 1k 0 =ik 2 1k = 1k 2 1k 2 1k 2 1k 12 1k
8 | /K &1k 0f =1k 12 1k 12 1k & 1k & 1k 2 1k 12 1k
9 | K {2 1k 0 =1k = 1k = 1k 2 1k 2 1k = 1k = 1k
10 | & 2 1k 0 =ik 12 1k 12 1k & 1k & 1k 2 1k 12 1k
11| + = 1k 0 =ik = 1k = 1k = 1k = 1k = 1k = 1k
12| H 2 1k 0 =ik 2 1k = 1k 2 1k 2 1k 2 1k 2 1k
13 A 2 1k 0f =1k 12 1k 12 1k & 1k 2 1k 12 1k 12 1k
14 | k& {2 1k 0 =1k = 1k = 1k 2 1k 2 1k = 1k = 1k
15 | K {2 1k 0 =ik 12 1k 12 1k & 1k 2 1k 2 1k 12 1k
16 | & {2 1k 0f =1k = 1k = 1k 2 1k = 1k = 1k = 1k
17| & 2 |k 0| =1k 2 1k = 1k 2 1k 2 1k 2 1k 2 1k
18 | + 2 1k 0f =1k 12 1k 12 1k & 1k & 1k 12 1k 12 1k
19| H = 1k 0 =1k = 1k =k 2 1k 2 1k = 1k = 1k
20 | H 2 1k 0 =ik 12 1k 12 1k & 1k & 1k 2 1k 12 1k
21 | k {2 1k 0 =ik = 1k =k = 1k = 1k = 1k = 1k
22 |k 2 1k 0 =ik 2 1k = 1k 2 1k 2 1k 2 1k 12 1k
23 | K &1k 0f =1k 12 1k 12 1k & 1k & 1k 2 1k 12 1k
24 | & = 1k 0 =1k = 1k =k 2 1k 2 1k = 1k = 1k
25 | 1= 2 1k 0 =ik 12 1k 12 1k & 1k & 1k 2 1k 12 1k
26 | | = 1k 0 =ik = 1k =k = 1k = 1k = 1k = 1k
27 | H 2 1k 0 =ik 2 1k = 1k 2 1k 2 1k 2 1k 2 1k
28 | & 2 1k 0f =1k 12 1k 12 1k & 1k 2 1k 12 1k 12 1k
29 | Jk {2 1k 0 =1k = 1k =k 2 1k 2 1k = 1k = 1k
30 | K {2 1k 0 =ik 12 1k 12 1k & 1k 2 1k 2 1k 12 1k
& K — 0 0 0 0 0 0 0 0
&% /D — 0 0 0 0 0 0 0 0
Ty — 0 0 0 0 0 0 0 0
& &t — 0 — — — — — — —
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AT — ton C C ppm ppm mg/Nm’ ppm ppm
E A — — 800Lk | [ 20004 F [ 1002 F | 2084 F | 208 F | 2504 F | 5624 F
1| K 5 1k 0 =ik 2 1k 2 1k 2 1k = 1k 5 1k 2 1k
2 | K 2 1k 0o =ik 12 1k 12 1k 12 1k 12 1k 2 1k 12 1k
3 | & & 1k 0 =ik 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
4 | + 2 1k 0 =ik 2 1k 2 1k 2 1k 2 1k 5 1k 2 1k
5 | H 12 1k 0 =ik 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
6 | H 5 1k 0 =ik 2 1k 2 1k 2 1k = 1k 5 1k 2 1k
7 1k 2 1k 0 =ik 12 1k 12 1k 12 1k 12 1k 2 1k 12 1k
8 | kK &1k 0 =ik 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
9 | K 2 1k 0 =ik 2 1k 2 1k 2 1k 1= 1k 5 1k 2 1k
10 | & 12 1k 0 =ik 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
11 | + 5 1k 0 =ik 2 1k 2 1k 2 1k = 1k 5 1k 2 1k
12 | B [ I 146 | 5B iR |- R b | BRI T (5B IR | A R E | BRI | R R IR
13| A | \igY 193 923 191 1 5 0 16 28
14 | k| /IR 194 924 190 0 5 0 16 30
15 | K | /TR Y 187 921 191 0 5 0 17 28
16 | K | Al Y 188 925 191 0 5 0 17 29
17| & | nRY 182 919 190 0 4 0 17 29
18 | + | ik 192 924 190 0 5 0 17 29
19 | B [ Ik 198 928 190 0 5 0 17 30
20 | A | "Ik 186 925 191 0 6 0 17 31
21 | k| "I 190 926 190 0 6 0 16 31
22 | K | AR 194 928 190 1 5 0 16 29
23 | K | "R 187 929 190 0 5 0 16 31
24 | & | AIBRRY 189 935 190 0 5 0 16 31
25 | + | AR 190 928 190 0 5 0 16 31
26 | H | "I 186 931 190 0 5 0 15 31
27 | A | ik 187 928 191 0 4 0 15 32
28 | K | AR 186 932 190 0 5 0 15 31
% K — 198 935 191 1 6 0 17 32
% /D — 0 919 190 0 4 0 15 28
Y — 113 927 190 0 5 0 16 30
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HAY — ton C C ppm ppm mg/Nm® ppm ppm
A — — 80024 1 [ 20084 F [ 10024 F | 2084 F | 208k F | 2500 F | 56LL F
1| K =1k 0 =ik = 1k = 1k = 1k (=315 = 1k = 1k
2 | K &1k 0 =ik 2 1k = 1k 2 1k & 1k 2 1k 12 1k
3 | & 12 1k 0f =1k 12 1k 12 1k & 1k & 1k 2 1k 12 1k
4 | + = 1k 0 =1k = 1k = 1k 2 1k 2 1k = 1k = 1k
5 H 2 1k 0 =ik 12 1k 12 1k & 1k & 1k 2 1k 12 1k
6 | A =1k 0 =ik = 1k = 1k = 1k = 1k = 1k = 1k
7|k 2 1k 0 =ik 2 1k = 1k 2 1k 2 1k 2 1k 12 1k
8 | /K &1k 0f =1k 12 1k 12 1k & 1k & 1k 2 1k 12 1k
9 | K =1k 0 =1k = 1k = 1k 2 1k 2 1k = 1k = 1k
10 | & 2 1k 0 =ik 12 1k 12 1k & 1k & 1k 2 1k 12 1k
11| + = 1k 0 =ik = 1k = 1k = 1k = 1k = 1k = 1k
12| H 2 1k 0 =ik 2 1k = 1k 2 1k 2 1k 2 1k 2 1k
13 A 2 1k 0f =1k 12 1k 12 1k & 1k 2 1k 12 1k 12 1k
14 | k =1k 0 =1k = 1k = 1k 2 1k 2 1k = 1k = 1k
15 | K &1k 0 =ik 12 1k 12 1k & 1k 2 1k 2 1k 12 1k
16 | K =1k 0 =ik = 1k = 1k = 1k = 1k = 1k = 1k
17| & 2 1k 0 =ik 2 1k = 1k 2 1k 2 1k 2 1k 2 1k
18 | + 2 1k 0f =1k 12 1k 12 1k 2 1k & 1k 12 1k 12 1k
19| H = 1k 0 =1k = 1k = |k 2 1k 2 1k = 1k = 1k
20 | H 2 1k 0 =ik 12 1k 12 1k & 1k & 1k 2 1k 12 1k
21 | k =1k 0 =ik = 1k = |k = 1k = 1k = 1k = 1k
22 |k &1k 0 =ik 2 1k = 1k 2 1k 2 1k 2 1k 12 1k
23 | K &1k 0f =1k 12 1k 12 1k & 1k & 1k 2 1k 12 1k
24 | & = 1k 0 =1k = 1k = 1k 2 1k 2 1k = 1k = 1k
25 | + 2 1k 0 =ik 12 1k 12 1k & 1k & 1k 2 1k 12 1k
26 | | = 1k 0 =ik = 1k = 1k = 1k = 1k = 1k = 1k
27 | H 2 1k 0 =ik 2 1k = 1k 2 1k 2 1k 2 1k 2 1k
28 | & 2 1k 0f =1k 12 1k 12 1k & 1k 2 1k 12 1k 12 1k
& K — 0 0 0 0 0 0 0 0
&% /D — 0 0 0 0 0 0 0 0
FAEE — 0 0 0 0 0 0 0 0
& &t — 0 — — — — — — —
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BT — ton T T ppm ppm mg/Nm3 ppm ppm BT — ton T T ppm ppm mg/Nm3 ppm ppm
& PRAE — — 800LL I [ 200LAF | 100LAF | 208AF | 2084 F | 250 F | 66LLF & PRAE — — 800LL |k | 200LA F | 100LA F | 20LAF [ 2084 F | 25LLF | 56LAF
1 H 5 1k 0 =ik 2 1k 2 1k 2 1k = 1k 5 1k 2 1k 1 H | /&Y 165 933 191 1 7 0 16 36
2 | H 2 1k 0 =ik 12 1k 12 1k 12 1k 12 1k 2 1k 12 1k 2 | A | IRy 162 923 191 1 4 0 16 34
3 |k & 1k 0| f&Ik 12 1k 12 1k 1= 1k 1= 1k 12 1k & 1k 3 | k| TR 179 924 191 2 7 0 16 35
4 | K =1k 0 =ik 2 1k 2 1k 2 1k 2 1k 5 1k 2 1k 4 | K | Ry 184 928 191 2 5 0 15 35
5 | K &1k 0| f&1Ik 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k 5 | K | AW 180 937 191 2 5 0 16 34
6 | & 5 1k 0 =ik 2 1k 2 1k 2 1k = 1k 5 1k 2 1k 6 | & | "Iy 177 934 191 2 5 0 15 32
7|+ 2 1k 0 =ik 12 1k 12 1k 12 1k 12 1k 2 1k 12 1k 7T | £ | IRy 182 934 191 2 5 0 16 31
8 H & 1k 0 =ik 12 1k 12 1k 1= 1k 1= 1k 12 1k & 1k 8 H | \I&Y 177 932 190 1 5 0 16 34
9 | H 2 1k 0 =ik 2 1k 2 1k 2 1k = |k 5 1k 2 1k 9 | A [ iy 180 928 191 2 5 0 16 33
10 | k 12 1k 0| f&1k 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k 10 | k| AR 186 922 191 2 5 0 15 36
11 | 7k =1k 0 =ik 2 1k 2 1k 2 1k = 1k 5 1k 2 1k 11 | Kk | "I 176 933 191 2 6 0 16 34
12 | K =1k 0 =ik 12 1k 12 1k 12 1k 12 1k 2 1k 12 1k 12 | K | AIRY 187 927 191 2 6 0 16 33
13 | & & 1k 0 =ik 12 1k 12 1k 1= 1k 1= 1k 12 1k & 1k 13| & | /Y 187 928 191 2 6 0 16 31
14 | - 2 1k 0 =ik 2 1k 2 1k 2 1k 1= 1k 5 1k 2 1k 14 | + | /iy 186 929 191 2 6 0 16 33
15| H 12 1k 0| f&1k 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k 15 | A | &Y 184 933 191 2 6 0 16 32
16 | A =1k 0 =ik 2 1k 2 1k 2 1k = 1k 5 1k 2 1k 16 | A | /&Y 192 933 191 2 6 0 15 35
17 |k =1k 0 =ik 12 1k 12 1k 12 1k 12 1k 2 1k 12 1k 17 | k| TR 192 932 191 1 6 0 16 36
18 | & 1k 0 =ik 12 1k 1= 1k 1= 1k 1= 1k 12 1k 2 1k 18 | /K | "R 194 930 191 1 5 0 16 36
19 | K =1k 0 =ik 2 1k 2 1k 2 1k 2 1k 5 1k 2 1k 19 | & | /&Y 187 943 191 1 5 0 17 32
20 | & | Bk 0| =ik =1k =1k =ik =1k 121k =1k 20 | & | AR 1325 FEE | - B IR H | F-B R o | A B E T | A B IE | - B IR | F-FRIR

21 | | ik 0| f=ik =1k =ik =ik =ik =1k =1k 21 | + | =ik 0] =ik =ik =ik =1k =1k =ik =ik
22 | H 21k 0| =ik =1k =ik =ik =ik 21k =1k 22 | H =ik 0] =ik =ik =ik 21k =1k =ik =ik
23 | A 5 1k 0| {51k 121k =1k = =1k 12 1k 2 1k 23 | H 2 1k 0| {81k =ik =1k 121k 12 1k =ik =1k
24 | k| #EIE 0| =ik =1k =ik =ik = 1 21k =1k 24 | :k =ik 0] =ik =ik =ik 21k =1k =ik =ik
25 | Kk | Bk 0| =ik =1k =1k =ik =1k 121k =1k 25 | k| Bk 0] =ik =ik =1k £ = 1k =1k =1k
26 | K | &b 0| f=ik =1k =ik =ik = 1 =1k =1k 26 | K | fEIE 0] =ik =ik =ik =1k =1k =ik =ik
27 | & | ik 0| =ik =1k =ik =ik =ik 21k =1k 27 | & | ik 0] =ik =ik =ik = 1k = 1k =ik =ik
28 | + & 1k 0 =ik 12 1k 12 1k 1= 1k 1= 1k 12 1k 2 1k 28 | + 2 1k 0f =1k 1= 1k 1= 1k 12 1k 12 1k 1= 1k 1= 1k
29 | H 21k 0| =ik =1k =ik =ik =ik 21k =1k 29 | H =ik 0] =ik =ik =ik 21k =1k =ik =ik
30 | A 2 1k 0| =ik =1k =1k =ik =1k 121k =1k 30 | A =1k 0] =ik =ik =1k 121k =1k =1k =ik
31 | k| fEIE 0| f=ik =1k =ik =ik =ik =1k =1k 31 |k =ik 0] =ik =ik =ik =1k =1k =ik =ik
TS — 0 0 0 0 0 0 0 0 B K — 194 943 191 2 7 0 17 36
% /D — 0 0 0 0 0 0 0 0 % /D — 0 922 190 1 4 0 15 31
D — 0 0 0 0 0 0 0 0 = — 116 931 191 2 5 0 16 34
& — 0 — — — — — — — & F — 3589 — — — — — — —
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BT — ton T T ppm ppm mg/Nm3 ppm ppm
E A — — 800Lk | [ 20004 F [ 1002 F | 2084 F | 208 F | 2504 F | 5624 F
L | K| #Eik 0] &1k =1k =ik =ik =ik =1k =1k
2 | & | ik 0] &Ik =1k =ik =ik =ik 21k =1k
3 | + | ik 0| =ik 12 1k =ik =ik =1k 12 1k 12 1k
4 | H 21k 0] &1k =1k =ik =ik =ik 21k =1k
5 | H 2 1k 0] &Ik =1k =1k =ik =1k 121k =1k
6 | k| =ik 0] &1k =1k =ik =ik =ik =1k =1k
7 K| IR 0] &1k =1k =ik =ik =ik 21k =1k
8 | K| =ik 0| =ik 121k =1k =ik =1k 12 1k 12 1k
9 | & | =ik 0] &1k =1k =ik =ik =ik 21k =1k
10| + [ 1k 0] &Ik =1k =1k =ik =1k 121k =1k
11 | H =1k 0] &1k =1k =ik =ik =ik =1k =1k
12 | H 21k 0] &1k =1k =ik =ik =ik 21k =1k
13 | k| Ik 0| =ik 121k =1k = =1k 12 1k 121k
14 | K | =1k 0] &1k =1k =ik =ik =ik 21k =ik
15 | K| =1k 0] &1k =1k =1k =ik =1k 121k =1k
16 | & | =1k 0] &1k =1k =ik =ik =ik =1k =1k
17| + | &1k 0] &1k =1k =ik =ik =ik 21k =1k
18| R =3 0| =ik 121k =1k = =1k 12 1k 12 1k
19 | A 21k 0] &1k =1k =ik =ik =S 21k =1k
20 | k| fEIE 0] &Ik =1k =1k =ik =1k 121k =1k
21 | k| 21k 0] &1k =1k =ik =ik = =1k =1k
22 | K| fEIE 0] &1k =1k =ik =ik =ik 21k =1k
23 | & | Bk 0| =ik 121k =1k =ik =1k 12 1k 12 1k
24 | | =ik 0] &1k =ik =ik =ik =ik 21k =ik
25 | H 2 1k 0] &1k =1k =1k =ik =1k 21k =1k
26 | A =1k 0] &1k =1k =ik =ik =ik =1k =1k
27 | k| fEIE 0] &1k =1k =ik =ik =ik 21k =1k
28 | k| =1k 0| =ik 121k =1k = =1k 12 1k 121k
29 | K| Ik 0] &1k =1k =ik =ik =S 21k =ik
30 | & | Bk 0] &1k =1k =1k =ik =1k 121k =1k
31| | ik 0] &1k =1k =ik =ik =ik =1k =1k
&K — 0 0 0 0 0 0 0 0
% /D — 0 0 0 0 0 0 0 0
Y — 0 0 0 0 0 0 0 0
& F — 0 — — — — — — —
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HAL — ton T T ppm ppm mg/Nm3 ppm ppm
& PRAE — — 8002k [ 20084 F [ 100LAF | 2084 F | 20BAF | 2580 F | 56LA T
1 [ K | AT 205 929 192 2 7 0 15 39
2 | & | 18w 198 927 192 2 7 0 16 37
3 | & [ TR 194 929 192 2 8 0 15 37
4 | B | IR 188 930 192 2 7 0 15 36
5 | A | /18w 196 923 192 2 8 0 15 38
6 | K | AW 194 923 192 2 8 0 16 36
7 |k | ARy 186 925 192 2 8 0 15 37
8 | K [ "BRY 197 929 192 3 8 0 16 38
9 | & | &Y 197 927 192 3 8 0 16 38
10 | + | T 192 924 191 2 9 0 16 36
11 [ H | AIkY 190 926 191 2 8 0 16 37
12 | A | /&Y 187 922 191 2 7 0 16 35
13 | k| "TRY 190 924 191 1 7 0 15 38
14 | K | TR 186 928 191 2 7 0 15 35
15 | K | "[RY 187 926 191 2 8 0 15 37
16 | & | /&Y 191 921 191 2 8 0 16 37
17 | + | 7Ty 195 931 191 1 7 0 16 38
18| H | /&Y 190 931 191 1 8 0 16 35
19 | A | I8 187 927 191 1 7 0 15 38
20 | k| AR 189 932 191 1 7 0 16 37
21 | K | AIRY 184 931 191 1 8 0 16 39
22 | K | AIRY 190 931 191 1 8 0 16 39
23 | & | AT 192 933 191 2 9 0 15 37
24 | + | ATk 185 922 191 2 7 0 16 34
25 | B | Ak 191 928 191 2 6 0 16 35
26 | A | "I 184 936 191 2 8 0 16 35
27 | k| RIBRY 183 928 191 1 7 0 15 36
28 | K | "I 179 931 191 1 6 0 17 35
29 | K | AIRY 180 929 191 2 6 0 16 34
30 | & | ATk 178 935 191 2 7 0 16 35
31 | & | AW 185 929 191 2 6 0 16 33
&K — 205 936 192 3 9 0 17 39
&% /D — 178 921 191 1 6 0 15 33
Ty — 189 928 191 2 7 0 16 36
& F — 5870 — — — — — — —
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HAL — ton C °C ppm ppm mg/Nm® ppm ppm
E A — — 800Lk | [ 20004 F [ 1002 F | 2084 F | 208 F | 2504 F | 5624 F
1| & 5 1k 0| f=ik 2 1k 2 1k 2 1k = 1k 5 1k 2 1k
2 | Kk 2 1k 0| =ik 12 1k 12 1k 12 1k 12 1k 2 1k 12 1k
3 | K 12 1k 0| {51k 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
4 | & | =ik 0| =ik 2 1k 2 1k 2 1k 2 1k 5 1k 2 1k
5 | | =ik 0| =ik 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
6 | H 5 1k 0| f=ik 2 1k 2 1k 2 1k = 1k 5 1k 2 1k
7 | A 2 1k 0| =ik 12 1k 12 1k 12 1k 12 1k 2 1k 12 1k
8 | k 5 1k 0| {51k 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
9 | K 2 1k 0| fZik 2 1k 2 1k 2 1k 1= 1k 5 1k 2 1k
10 | K 12 1k 0| fZik 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
11 | & | =ik 0| f=ik 2 1k 2 1k 2 1k = 1k 5 1k 2 1k
12 | + [ =ik o] =ik 12 1k 12 1k 12 1k 12 1k 2 1k 12 1k
13| H 5 1k 0| {51k 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
14 | H 5 1k 0| =ik 2 1k 2 1k 2 1k 2 1k 5 1k 2 1k
15 | k 12 1k 0| =ik 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
16 | 7k 5 1k 0| f=ik 2 1k 2 1k 2 1k = 1k 5 1k 2 1k
17 | K 2 1k 0| =ik 12 1k 12 1k 12 1k 12 1k 2 1k 12 1k
18 | & | =ik 0| {51k 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
19 | £ [ =ik 0| =ik 2 1k 2 1k 2 1k 2 1k 5 1k 2 1k
20 | H 12 1k 0| =ik 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
21 | A 5 1k 0| f=ik 2 1k 2 1k 2 1k = 1k 5 1k 2 1k
22 | k& 2 1k 0| =ik 12 1k 12 1k 12 1k 12 1k 2 1k 12 1k
23 | K& 12 1k 0| {51k 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
24 | K 5 1k 0| =ik 2 1k 2 1k 2 1k 2 1k 5 1k 2 1k
25 | & | &Ik 0| =ik 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
26 | + | 51k 0| f=ik 2 1k 2 1k 2 1k = 1k 5 1k 2 1k
27 | H 2 1k o] =ik 12 1k 12 1k 12 1k 12 1k 2 1k 12 1k
28 | A 5 1k 0| {51k 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
29 | k& 5 1k 0| =ik 2 1k 2 1k 2 1k 2 1k 5 1k 2 1k
30 | K 12 1k 0| =ik 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
&K — 0 0 0 0 0 0 0 0
% /D — 0 0 0 0 0 0 0 0
Y — 0 0 0 0 0 0 0 0
& &t — 0 — — — — — — —
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BT — ton C C ppm ppm mg/Nm’ ppm ppm
& PRAE — — 8002k [ 20084 F [ 100LAF | 2084 F | 20BAF | 2580 F | 56LA T
1 [ Kk | AT 185 929 192 1 7 0 15 38
2 | k| AIRRY 183 929 192 1 6 0 16 38
3 | K | AW 178 924 192 2 4 0 15 38
4 | & | Ty 178 924 191 2 5 0 14 36
5 | £ | IRy 186 925 192 2 6 0 15 37
6 H | Al 185 921 192 1 5 0 16 37
7T 1A | Ty 184 927 191 2 5 0 16 38
8 | k| TR 188 929 192 2 6 0 17 36
9 | K | TIRY 193 930 192 2 7 0 17 37
10 | & | /&Y 192 934 192 2 6 0 16 38
11| & | &y 198 927 192 2 8 0 16 38
12 | + | 7Ty 193 925 192 2 7 0 16 36
13 | A | TRY 186 923 192 1 7 0 15 38
14 | A | I8 187 922 191 2 8 0 16 35
15 | k| "I 199 928 192 2 8 0 16 38
16 | A | /&Y 189 924 192 2 6 0 16 37
17 | K| /gy 191 927 192 2 6 0 15 38
18 | & | /&Y 184 930 192 2 7 0 16 37
19 | + | Y 193 926 192 2 7 0 16 38
20 | B | "Ik 193 923 191 2 9 0 16 37
21 | A | "I 191 923 192 2 8 0 16 37
22 | k| IR 197 923 192 2 7 0 16 36
23 | K | "BRY 192 931 192 2 6 0 15 40
24 | K | ATk 201 925 192 3 6 0 14 38
25 | & | Ak 199 925 192 3 6 0 15 37
26 | & | AW 197 924 192 2 7 0 16 38
27 | H | AIRRY 205 923 192 2 7 0 16 38
28 | A | \rgkw 196 920 192 2 7 0 16 38
29 | k| IR 198 925 192 3 6 0 15 36
30 | K | AR 198 927 192 3 7 0 15 38
& K — 205 934 192 3 9 0 17 40
&% /D — 178 920 191 1 4 0 14 35
D) — 191 926 192 2 7 0 16 37
& F — 5740 — — — — — — —
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BT — ton T T ppm ppm mg/Nm3 ppm ppm
E A — — 800Lk | [ 20004 F [ 1002 F | 2084 F | 208 F | 2504 F | 5624 F
1 | &= [ I 194 925 190 1 6 0 17 36
2 | B | IRRY 192 925 190 1 5 0 15 37
3 | A | "Iy 189 922 190 2 6 0 15 37
4 | K| FIBRY 185 925 190 2 6 0 16 37
5 | k| AR 189 921 190 1 6 0 16 38
6 | K | AW 182 925 190 2 5 0 15 36
T & | TRy 194 924 190 2 4 0 15 37
8 | £ | kY 185 928 190 1 5 0 15 35
9 | H | Y 187 925 190 2 5 0 15 36
10 | A | \i&Y 194 921 190 1 5 0 15 36
11 [ k| Ik 132 827 190 31 4 0 13 42

12 | K 2 1k 0 =ik 12 1k 12 1k 12 1k 12 1k 2 1k 12 1k
13 | K 12 1k 0| {51k 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
14 | & 5 1k 0 =ik 2 1k 2 1k 2 1k 2 1k 5 1k 2 1k
15 | + 12 1k 0 =ik 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
16 | H 5 1k 0 =ik 2 1k 2 1k 2 1k = 1k 5 1k 2 1k
17 | H 2 1k 0 =ik 12 1k 12 1k 12 1k 12 1k 2 1k 12 1k
18 | X 5 1k 0| {51k 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
19 | K 2 1k 0 =ik 2 1k 2 1k 2 1k = 1 5 1k 2 1k
20 | K 12 1k 0 =ik 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
21 | & 5 1k 0 =ik 2 1k 2 1k 2 1k = 1 5 1k 2 1k
22 | + 2 1k 0 =ik 12 1k 12 1k 12 1k 12 1k 2 1k 12 1k
23| H 5 1k 0| {51k 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
24 | A 5 1k 0 =ik 2 1k 2 1k 2 1k 2 1k 5 1k 2 1k
25 | k 12 1k 0 =ik 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
26 | /K 5 1k 0 =ik 2 1k 2 1k 2 1k = 1k 5 1k 2 1k
27 | K 2 1k 0 =ik 12 1k 12 1k 12 1k 12 1k 2 1k 12 1k
28 | & 5 1k 0| {51k 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
29 | + 5 1k 0 =ik 2 1k 2 1k 2 1k = 1 5 1k 2 1k
30| H 12 1k 0 =ik 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
31 | A 5 1k 0 =ik 2 1k 2 1k 2 1k = 1k 5 1k 2 1k
% K — 194 928 190 31 6 0 17 42
% /D — 0 827 190 4 0 13 35
Y — 65 915 190 5 0 15 37
& E — 2023 — — — — — — —

35
L .
B B o gﬁ 2 i =
e - 1 e A " - 0 k. o
il w s A . K p
#ln| o iR D R Lol x| E
&= A = ¥ ; ; W
i - JE w1 o - b I "
B o 1 - - Jii3 Jii3 -

— — HEEHE| B 4 E| B 4 E | B EXME| B SE | B SEME| B 50| B 8 E
HAL — ton T T ppm ppm mg/Nm3 ppm ppm
& PRAE — — 8002k F | 200LA F | 100LA F | 20LAF [ 2084 F | 25LLF | 56LAF
1 | + | ik 0| {51k 2 1k = 1k 5 1k 2 1k 2 1k 2 1k
2 | H 12 1k 0| {51k 12 1k 12 1k 2 1k 12 1k 12 1k 12 1k
3 | A 2 1k 0| {81k 1= 1k 1= 1k 12 1k 12 1k 12 1k 1= 1k

4 |k 2 1k 0| {51k 2 1k 1= 1k 2 1k 2 1k 2 1k 2 1k

5 | 12 1k 0| {81k 1= 1k 1= 1k 12 1k 12 1k 12 1k 1= 1k

6 | K 2 1k 0| {51k 2 1k = 1k 5 1k 2 1k 2 1k 2 1k

7 1 & Eik 0| {51k 12 1k 12 1k 2 1k 12 1k 12 1k 12 1k

8 | + [ =ik 0| {81k 1= 1k 1= 1k 12 1k 12 1k 12 1k 1= 1k

9 | H 2 1k 0| {51k 2 1k 1= 1k 2 1k 2 1k 2 1k 2 1k

10 | H 12 1k 0| &1k 1= 1k 1= 1k 12 1k 12 1k 12 1k 1= 1k

11 | kK | A 92| - BRI T [ F- B IR | A B IE P | BRI | A B IR P | AL R IE P | B IR
12 | K | IR Y 192 921 192 2 8 0 15 36
13 | K | "TRY 182 924 192 2 8 0 15 37
14 | & | /&Y 185 925 192 2 9 0 15 38
15 | + | Ay 188 923 191 2 9 0 16 37
16 | H | AIkY) 181 922 192 2 9 0 16 38
17| A | /gy 185 920 192 2 9 0 15 38
18 | &k | "I Y 180 930 192 2 9 0 15 39
19 | K | AT 178 930 191 2 9 0 16 37
20 | K | Ak 184 929 192 2 9 0 15 38
21 | & | AT 195 930 192 2 9 0 16 38
22 | + | ATRRY 193 926 191 2 9 0 15 38
23 | H | AT 184 928 192 2 9 0 16 39
24 | A | gk 189 930 193 2 7 0 15 39
25 | k| ATk 194 927 191 2 7 0 15 37
26 | K | IR 180 925 192 2 7 0 15 37
27 | K | AIRY 186 926 192 1 8 0 15 38
28 | & | AW 185 932 192 2 7 0 15 37
20 | + | ATk 188 926 192 2 8 0 15 37
30 | B | Ak 191 910 192 2 6 0 15 40
31 | A | "I 181 919 192 2 7 0 16 37
& K — 195 932 193 2 9 0 16 40
&% /D — 0 910 191 1 6 0 15 36
Sty — 123 925 192 2 8 0 15 38
& F — 3813 — — — — — — —
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HAL — ton C C ppm ppm mg/Nm3 ppm ppm
& PRAE — — 800LL F [ 20084 F | 100LAF | 2084 F | 20BAF | 2580 F | 56LAF
L | K | "I 194 922 191 1 5 0 16 35
2 | & | 18w 189 924 191 1 6 0 15 38
3 | & | AR 200 923 190 1 6 0 16 37
4 | B | TR 191 922 191 1 6 0 15 36
5 | A | 718w 189 912 190 1 6 0 15 34
6 | kK | FIBRY 186 925 190 1 6 0 15 38
7 |k | ARRY 196 924 190 2 6 0 16 38
8 | K [ AIkY 196 918 190 2 7 0 16 38
9 | & | MY 193 918 190 2 7 0 16 38
10 [ + | ik 199 916 190 1 6 0 16 38
11 | A [ I8 196 914 191 2 5 0 16 36
12 | A | \i&Y 191 911 191 2 6 0 15 36
13 [ k| IR 196 916 191 2 7 0 17 38
14 | K | /IR 199 919 191 1 6 0 15 38
15 | K [ "[BY 201 916 191 2 5 0 16 37
16 | & | /&Y 199 919 190 2 6 0 16 37
17 | + [ I 196 921 191 1 6 0 17 38
18 | H | AIk®) 195 922 191 1 6 0 15 37
19 | H [ 18w 189 922 190 1 5 0 16 37
20 | k| AR 192 919 190 1 5 0 16 38
21 | K | "Ik 197 913 191 1 5 0 16 37
22 | K| "Ik 191 926 190 1 5 0 16 36
23 | & | AIRRY 196 921 191 2 6 0 17 36
24 | + | ATk 195 927 190 1 5 0 16 38
25 | H | AIBRY 189 924 191 1 5 0 14 37
26 | A | oIk 191 924 190 1 5 0 15 39
27 | k| ATk 192 920 190 2 6 0 16 38
28 | K | AR 179 925 191 1 5 0 16 38
29 | K | AR 186 918 191 1 5 0 16 38
30 | & | "Ik 188 928 190 1 5 0 15 37
1 h iR K — 201 928 191 2 7 0 17 39
1 h {5/ — 179 911 190 1 5 0 14 34
S — 193 920 190 1 6 0 16 37
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HiLAL — ton C C ppm ppm mg/Nm3 ppm ppm
% PR - — 80024 F [ 2008k F | 1008 F | 2084 F | 2084 F | 2500 F | 56LL F
1| K {2 1k 0 =1k = 1k = 1k 2 1k 2 1k = 1k = 1k
2 | & 2 1k 0 =ik 12 1k 12 1k & 1k & 1k 2 1k 12 1k
3 | + = 1k 0 =ik = 1k = 1k = 1k = 1k = 1k = 1k
4 H 2 1k 0 =ik 2 1k = 1k 2 1k 2 1k 2 1k 12 1k
5 | A 12 1k 0f =1k 12 1k 12 1k & 1k & 1k 2 1k 12 1k
6 | k {2 1k 0 =1k = 1k = 1k 2 1k 2 1k = 1k = 1k
7 | K {2 1k 0 =ik 12 1k 12 1k & 1k & 1k 2 1k 12 1k
8 | K {2 1k 0 =ik = 1k = 1k = 1k = 1k = 1k = 1k
9 | & 2 1k 0 =ik 2 1k = 1k 2 1k 2 1k 2 1k 2 1k
10 | + 2 1k 0f =1k 12 1k 12 1k & 1k 2 1k 12 1k 12 1k
11| H = 1k 0 =1k = 1k = 1k 2 1k 2 1k = 1k = 1k
12| A 2 1k 0 =ik 12 1k 12 1k & 1k 2 1k 2 1k 12 1k
13 | & {2 1k 0 =ik = 1k = 1k = 1k = 1k = 1k = 1k
14 | K 2 1k 0 =ik 2 1k = 1k 2 1k 2 1k 2 1k 2 1k
15 | K &1k 0f =1k 12 1k 12 1k & 1k & 1k 12 1k 12 1k
16 | & = 1k 0 =1k = 1k = 1k 2 1k 2 1k = 1k = 1k
17 | + 2 1k 0 =ik 12 1k 12 1k & 1k & 1k 2 1k 12 1k
18| H = 1k 0 =ik = 1k = 1k = 1k = 1k = 1k = 1k
19 A 2 1k 0 =ik 2 1k = 1k 2 1k 2 1k 2 1k 12 1k
20 | k& 12 1k 0f =1k 12 1k 12 1k & 1k & 1k 2 1k 12 1k
21 |k {2 1k 0 =1k = 1k = 1k 2 1k 2 1k = 1k = 1k
22 | K {2 1k 0 =ik 12 1k 12 1k & 1k & 1k 2 1k 12 1k
23 | & = 1k 0 =ik = 1k = 1k = 1k = 1k = 1k = 1k
24 | 1= 2 1k 0 =ik 2 1k = 1k 2 1k 2 1k 2 1k 2 1k
25 | A 2 1k 0f =1k 12 1k 12 1k & 1k 2 1k 12 1k 12 1k
26 | A = 1k 0 =1k = 1k = 1k 2 1k 2 1k = 1k = 1k
27 | k& 2 1k 0 =ik 12 1k 12 1k & 1k 2 1k 2 1k 12 1k
28 | Jk {2 1k 0 =ik = 1k = 1k = 1k = 1k = 1k = 1k
29 | K 2 1k 0 =ik 2 1k = 1k 2 1k 2 1k 2 1k 2 1k
30 | & 2 1k 0f =1k 12 1k 12 1k & 1k & 1k 12 1k 12 1k
1 h iR K — 0 0 0 0 0 0 0 0
Lh it/ — 0 0 0 0 0 0 0 0
ST — 0 0 0 0 0 0 0 0
S o — - - - - - -
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HAL — ton C C ppm ppm mg/Nm3 ppm ppm
& PRAE — — 800LL F [ 20084 F | 100LAF | 2084 F | 20BAF | 2580 F | 56LAF
1 [ A | ARy 191 915 190 1 7 0 15 38
2 | k| Y 195 920 190 2 7 0 15 38
3 | K | IR 187 919 190 1 7 0 15 38
4 | K | "IBRY 197 920 191 1 8 0 16 38
5 | & | 7T 185 921 190 1 6 0 14 37
6 | [ Ty 191 909 190 1 7 0 15 39
7 H | /&Y 191 908 190 1 7 0 15 37
8 | A | Al 184 915 190 1 6 0 17 39
9 | k| FIBRY 183 912 191 2 6 0 15 37
10 | 7k | "IBRY) 183 920 190 1 7 0 16 39
11| K| gy 186 911 190 1 6 0 16 36
12 | & | &Y 192 917 190 1 6 0 16 39
13 | &= | Ak 193 913 190 1 7 0 16 37
14 | B [ I 189 917 190 1 7 0 15 38
15| A | fi&Y 192 911 190 1 6 0 15 36
16 | &k | /&Y 184 915 190 1 7 0 16 37
17 | K | AIR®) 190 913 190 1 6 0 16 37
18 | K | Al Y 190 917 190 1 7 0 16 38
19 | & | nRY 188 919 190 1 7 0 15 38
20 | + | "Ik 188 920 190 2 8 0 16 38
21 | B | oIk 187 912 190 1 7 0 15 38
22 | H | AR 196 906 190 3 7 0 15 35
23 | k| IR 195 907 190 2 7 0 15 37
24 | K | AR 203 905 191 2 5 0 16 34
25 | R | AR 196 911 190 2 5 0 15 35
26 | & | AR 201 920 190 1 6 0 16 37
27 | £ | AIRRY 196 913 190 2 6 0 15 36
28 | H | "I 198 919 190 2 6 0 16 35
29 | A | "Ik 188 924 190 1 6 0 15 38
30 | k| AR 196 919 190 1 5 0 16 35
31 | K | "Ik 197 919 191 1 5 0 15 36
1 h iR K — 203 924 191 3 8 0 17 39
1 h &/ — 183 905 190 1 5 0 14 34
S — 191 915 190 1 6 0 15 37
& Bt — 5932 — — — — — — —
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=X A — ton C C ppm ppm mg/Nm3 ppm ppm
g — — 800LL E [ 20004 F [ 100LAF [ 208AF | 20LLF | 25LLF | 56LL T
1 | A =ik 0| {51k =ik =ik 21k =1k =ik =ik
2 | k| EIE 0| {81k =ik =1k 121k =1k =1k =ik
3 [ k| fEik 0| {51k =ik =ik =1k =1k =ik =ik
4 | A | Eik 0| {51k =ik =ik 21k =1k =ik =ik
5 | & | #EIk 0| {81k = =1k 121k 12 1k =1k =
6 | | =ik 0| {51k =ik =ik 21k =1k =ik =ik
71 H =1k 0| &1k =ik =1k 21k =1k =1k =ik
8 | A =ik 0| {51k =ik =ik =1k =1k =ik =ik
9 | k| Eik 0| {51k =ik =ik 21k =1k =ik =ik
10 | Kk | =1k 0| {81k =1k =1k 121k 121k =ik =ik
11| K| #Eik 0| {51k =ik =ik 21k =1k =ik =ik
12 | & | =1k 0| {81k =ik =1k 121k =1k =1k =ik
13 | + | =1k 0| {51k =ik =ik =1k =1k =ik =ik
14| H =ik 0| {51k =ik =ik 21k =1k =ik =ik
15 | A 2 1k 0| {81k = =1k 121k 12 1k =ik =
16 | k =ik 0| {51k =ik =ik 21k =1k =ik =ik
17 | K | =1k 0| {81k =ik =1k 121k =1k =1k =ik
18 | A | #Eik 0| {51k =ik =ik =1k =1k =ik =ik
19| & | =1k 0| {51k =ik =ik 21k =1k =ik =ik
20 | + | =1k 0| {81k = =1k 121k 12 1k =1k =
21 | H =ik 0| {51k =ik =ik 21k =1k =ik =ik
22 | A =1k 0| {81k =ik =1k 121k =1k =1k =ik
23 | k =ik 0| {51k =ik =ik =1k =1k =ik =ik
24 | k| fEIE 0| {51k =ik =ik 21k =1k =ik =ik
25 | K | Bk 0| {81k =ik =1k 121k 121k =ik =ik
26 | & | =ik 0| {51k =ik =ik 21k =1k =ik =ik
27 | + | b 0| {81k =ik =1k 121k =1k =1k =ik
28 | H =ik 0| {51k =ik =ik =1k =1k =ik =ik
29 | A =ik 0| {51k =ik =ik 21k =1k =ik =ik
30 | k| #EE 0| {81k =ik =1k 121k 12 1k =ik =
31 | K | Bk 0| {51k =ik =ik 21k =1k =ik =ik
1 h iR K — 0 0 0 0 0 0 0 0
1 h B/ — 0 0 0 0 0 0 0 0
SO — 0 0 0 0 0 0 0 0
& &t — 0 — — — — — — —
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HAL — ton C C ppm ppm mg/Nm3 ppm ppm
& PRAE — — 800LL F [ 20084 F | 100LAF | 2084 F | 20BAF | 2580 F | 56LAF
1 [ & | \IRRY 199 917 190 2 5 0 16 34
2 | + | Ty 193 910 190 2 5 0 15 34
3 H | "I 190 920 190 4 5 0 16 35
4 | H | iy 191 914 190 1 6 0 16 37
5 | k| Y 193 923 190 3 8 0 15 36
6 | K | TR 185 923 190 4 8 0 15 35
TR | T 193 920 190 4 8 0 15 37
8 | & | Mgy 188 919 190 3 8 0 15 37
9 | - | W 188 916 190 1 8 0 15 37
10 | H | /&Y 191 918 190 1 7 0 15 37
11 | A [ 7w 190 917 191 1 8 0 16 39
12 | k| /IRy 184 912 190 1 7 0 15 38
13 | A | iy 192 915 190 1 8 0 15 39
14 | A | /iRy 188 915 191 1 7 0 15 38
15 | & | \i&Y 195 912 190 2 7 0 15 37
16 | + [ Ik 193 920 190 1 7 0 15 37
17| H | /&Y 189 914 190 2 7 0 15 37
18 | A | AIk® 198 909 190 2 6 0 15 36
19 | k| /TRy 199 909 190 1 7 0 15 38
20 | K | AR 184 913 190 1 7 0 15 38
21 | K | AR 195 917 190 1 6 0 15 38
22 | & | "Ik 202 914 190 1 5 0 14 35
23 | & | "W 197 914 190 1 6 0 15 37
24 | B | Ik 191 912 190 1 6 0 15 37
25 | H | AR 200 917 190 2 6 0 15 38
26 | k| AR 195 913 190 2 8 0 15 37
27 | K | AR 190 916 190 1 7 0 16 38
28 | K | "Ik 196 914 190 2 6 0 15 37
20 | & | AR 195 915 190 2 7 0 15 37
30 | + | "Ik 193 912 190 1 6 0 16 38
31 | B | Ik 196 917 190 2 6 0 15 39
1 h iR K — 202 949 193 12 11 0 18 47
1 h &/ — 184 886 186 0 1 0 7 24
S — 193 915 190 2 7 0 15 37
& Bt — 5973 — — — — — — —
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HiLAL — ton C C ppm ppm mg/Nm3 ppm ppm
% PR - — 80024 F [ 2008k F | 1008 F | 2084 F | 2084 F | 2500 F | 56LL F
1 | & = 1k 0 =1k = 1k = 1k 2 1k 2 1k = 1k = 1k
2 | + 2 1k 0 =ik 12 1k 12 1k & 1k & 1k 2 1k 12 1k
3 H = 1k 0 =ik = 1k = 1k = 1k = 1k = 1k = 1k
4 | A 2 1k 0 =ik 2 1k = 1k 2 1k 2 1k 2 1k 12 1k
5 |k 12 1k 0f =1k 12 1k 12 1k & 1k & 1k 2 1k 12 1k
6 | K {2 1k 0 =1k = 1k = 1k 2 1k 2 1k = 1k = 1k
7 | K {2 1k 0 =ik 12 1k 12 1k & 1k & 1k 2 1k 12 1k
8 | & = 1k 0 =ik = 1k = 1k = 1k = 1k = 1k = 1k
9 | - 2 1k 0 =ik 2 1k = 1k 2 1k 2 1k 2 1k 2 1k
10| H 2 1k 0f =1k 12 1k 12 1k & 1k 2 1k 12 1k 12 1k
11| A = 1k 0 =1k = 1k = 1k 2 1k 2 1k = 1k = 1k
12 | Xk 2 1k 0 =ik 12 1k 12 1k & 1k 2 1k 2 1k 12 1k
13 | Kk {2 1k 0 =ik = 1k = 1k = 1k = 1k = 1k = 1k
14 | & 2 1k 0 =ik 2 1k = 1k 2 1k 2 1k 2 1k 2 1k
15 | & 2 1k 0f =1k 12 1k 12 1k & 1k & 1k 12 1k 12 1k
16 | + = 1k 0 =1k = 1k = 1k 2 1k 2 1k = 1k = 1k
17| H 2 1k 0 =ik 12 1k 12 1k & 1k & 1k 2 1k 12 1k
18| H {2 1k 0 =ik = 1k = 1k = 1k = 1k = 1k = 1k
19 | Xk 2 1k 0 =ik 2 1k = 1k 2 1k 2 1k 2 1k 12 1k
20 | 7k &1k 0f =1k 12 1k 12 1k & 1k & 1k 2 1k 12 1k
21 | K {2 1k 0 =1k = 1k = 1k 2 1k 2 1k = 1k = 1k
22 | & 2 1k 0 =ik 12 1k 12 1k & 1k & 1k 2 1k 12 1k
23 | + = 1k 0 =ik = 1k = 1k = 1k = 1k = 1k = 1k
24 | | 2 1k 0 =ik 2 1k = 1k 2 1k 2 1k 2 1k 2 1k
25 | H 2 1k 0f =1k 12 1k 12 1k & 1k 2 1k 12 1k 12 1k
26 | Kk {2 1k 0 =1k = 1k = 1k 2 1k 2 1k = 1k = 1k
27 | Kk {2 1k 0 =ik 12 1k 12 1k & 1k 2 1k 2 1k 12 1k
28 | K {2 1k 0 =ik = 1k = 1k = 1k = 1k = 1k = 1k
29 | & 2 1k 0 =ik 2 1k = 1k 2 1k 2 1k 2 1k 2 1k
30 | - 2 1k 0f =1k 12 1k 12 1k & 1k & 1k 12 1k 12 1k
31 | A = 1k 0 =1k = 1k = 1k 2 1k 2 1k = 1k = 1k
1 h iR K — 0 0 0 0 0 0 0 0
Lh it/ — 0 0 0 0 0 0 0 0
ST — 0 0 0 0 0 0 0 0
S o — - - - - - -
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HiAL — ton C C ppm ppm mg/Nm3 ppm ppm
A PE — — 800LL £ [ 20004 F [ 10024 | 20LLF 20LL°F | 25LLF 56LL T
1| K =1k 0| &Ik =1k =1k =1k =1k =1k =1k
2 | K &1k 0| {51k &1k =1k &1k &1k &1k &1k
3 | & =1k 0| &Ik =1k =1k =1k =1k =1k =1k
4 | + &1k 0| f&Ik =1k &1k &1k =1k &1k =1k
5 H &1k 0| {81k &1k &1k &1k &1k &1k &1k
6 | A =1k 0| &Ik =1k =k =1k =1k =1k =1k
7 |k &1k 0| {81k &1k =1k &1k &1k &1k &1k
8 | K =1k 0| &Ik =1k 2k =1k =1k =1k =1k
9 | K &1k 0| f&Ik =1k &1k &1k =1k &1k =1k
10 | & &1k 0| {81k &1k &1k & 1k &1k &1k &1k
11| + =1k 0| &Ik =1k =1k =1k =1k =1k =1k
12 | H &1k 0| {81k &1k =1k &1k &1k &1k &1k
13 | H =1k 0| &Ik =1k =1k =1k =1k =1k =1k
14 | & &1k 0| f&Ik =1k 21k &1k =1k &1k =1k
15 | K = 1k 0| {81k &1k &1k &1k &1k &1k &1k
16 | K =1k 0| &Ik =1k =1k =1k =1k =1k =1k
17 | & &1k 0| {81k &1k =1k &1k &1k &1k &1k
18| + =1k 0| &Ik =1k =1k =1k =1k =1k =1k
19 | H &1k 0| f&Ik =1k &1k &1k =1k &1k =1k
20 | H &1k 0| {81k &1k &1k &1k &1k &1k &1k
21 | k =1k 0| &Ik =1k =1k =1k =1k =1k =1k
22 | K &1k 0| {81k &1k =1k &1k &1k &1k &1k
23 | K =1k 0| &Ik =1k =1k =1k =1k =1k =1k
24 | & &1k 0| f&Ik =1k 21k =1k =1k &1k =1k
25 | + &1k 0| {81k &1k &1k &1k &1k &1k &1k
26 | A =1k 0| &Ik =1k =1k =1k =1k =1k =1k
27 | H &1k 0| {81k &1k =1k &1k &1k &1k &1k
28 | k =1k 0| &Ik =1k =1k =1k =1k =1k =1k
29 | /K &1k 0| f&Ik =1k 21k &1k =1k &1k =1k
30 | K = 1k 0| {81k &1k &1k &1k &1k &1k &1k
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XA — ton C C ppm ppm mg/Nm3 ppm ppm
& PRAE — — 800LL F [ 20084 F | 100LAF | 2084 F | 20BAF | 2580 F | 56LLF
1 | K | ATk 182 919 189 1 6 0 17 36
2 | K| "B 188 917 189 2 5 0 16 35
3 | & | "I 186 916 188 1 6 0 16 36
4 | + | Y 185 915 189 1 6 0 16 37
5 | H | 7Y 180 921 189 1 6 0 17 38
6 | H | Y 183 922 189 1 5 0 15 35
T k| T 187 919 189 1 7 0 16 38
8 | K | Ik 193 909 188 1 6 0 16 35
9 | K | "\IBY 194 906 189 2 6 0 16 34
10 | & | /&Y 186 907 187 2 6 0 15 33
11 | + [ 7w 190 919 189 1 7 0 16 36
12 | H | /&Y 183 912 189 1 7 0 15 36
13 [ A | ik 190 913 189 2 7 0 16 34
14 | k| /IR 193 909 189 3 7 0 16 33
15 | K | "IBRY) 193 909 188 3 6 0 15 33
16 | & | /&Y 189 906 189 2 7 0 16 33
17 | & | I 140 822 190 29 6 0 12 46
18 | - 5 1k 0 =ik 2 1k 2 1k 2 1k = 1k 5 1k 2 1k
19 | H 2 1k 0 =ik 12 1k 12 1k 12 1k 12 1k 2 1k 12 1k
20 | A 5 1k 0 =ik 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
21 | k 2 1k 0 =ik 2 1k 2 1k 2 1k 2 1k 5 1k 2 1k
22 | Kk 12 1k 0 =ik 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
23 | K =1k 0 =ik 2 1k 2 1k 2 1k = 1k 5 1k 2 1k
24 | & 2 1k 0 =ik 12 1k 12 1k 12 1k 12 1k 2 1k 12 1k
25 | + 5 1k 0 =ik 12 1k 1= 1k 1= 1k 1= 1k 12 1k 12 1k
26 | H 5 1k 0 =ik 2 1k 2 1k 2 1k 2 1k 5 1k 2 1k
27 | A 12 1k 0 =ik 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
28 | k| AR 104 | 7B iR 0 | 5 B iR b | 5 BRIE o [F- B IR | A R E P | BRI T | A B IR
29 | K | AIBRY 192 912 190 1 4 0 15 32
30 | K | AR 192 906 190 2 4 0 15 33
1 h iR K — 194 937 197 9 10 0 23 43
1 h {5/ — 0 883 177 0 0 0 9 25
S — 121 908 189 3 6 0 16 35
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HAL — ton T T ppm ppm mg/Nm3 ppm ppm
& PR — — 800LL I [ 20004 F | 100LLF | 2084 F | 2084 F | 258LF | 56LLF
1 H | /&Y 191 922 191 1 6 0 16 36
2 | A | "I 177 924 190 1 7 0 16 37
3 | k| Y 183 915 189 1 7 0 16 36
4 | K | IR 184 916 189 1 7 0 17 37
5 | K | AR 182 918 189 1 6 0 16 38
6 | & | TRy 171 920 188 1 7 0 17 38
T | Ty 185 919 189 1 7 0 17 38
8 | H [ &Y 177 920 190 1 7 0 17 39
9 | A | AIY 180 918 190 1 7 0 16 38
10 | &k | /IRy 180 924 189 1 8 0 16 37
11| & | Ik 176 920 189 1 7 0 16 37
12 | K| iy 180 919 190 1 7 0 17 38
13 | & | &Y 180 914 189 1 7 0 16 38
14 | & | Ik 180 919 189 1 7 0 17 37
15 | B [ Iy 181 920 189 1 6 0 16 34
16 | A | \i&Y 179 916 190 1 7 0 16 37
17 | k| iRy 201 921 190 1 7 0 16 35
18 | &K | IR Y 177 918 189 1 5 0 17 35
19 | K | A% 190 923 190 1 6 0 16 36
20 | & | AR 182 919 190 1 6 0 16 36
21 | £ | "TRY 190 911 190 1 7 0 15 35
22 | H | "Ik 187 921 189 1 7 0 16 39
23 | H | AR 176 915 189 1 7 0 16 38
24 | k| IR 181 923 190 1 8 0 16 39
25 | K | AR 181 913 190 1 6 0 16 37
26 | K | AR 190 920 190 1 6 0 16 39
27 | & | AW 183 913 189 1 6 0 16 36
28 | + | "Ik 182 921 189 1 7 0 16 39
29 | H | "I 186 923 189 1 7 0 16 37
30 | A | "Ik 185 917 190 2 6 0 16 36
31 | k| Ak 186 909 189 2 6 0 15 37
1 hfERK — 201 941 198 7 11 0 20 48
1 h &/ — 171 888 174 0 2 0 8 26
Y — 183 918 189 1 7 0 16 37
& B — 5666 — — — — — — —
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HA {7 — ton C T ppm ppm mg/Nm3 ppm ppm
5 PR — — 8002 | 20000 F [ 1008 F | 20 F [ 2000F | 2500 F [ 56LL°F
HE 15 1k 0| f=ik 12 1k 12 1k 15 1k 15 1k 15 1k 12 1k
2 | A 15 1k 0| f=1k 151k 1% 1k 15k 151k 15 1k 121k
3 | k| ik 0| f=1k 12 1k 12 1k 15 1k 15 1k 15 1k 12 1k
4 | K | =ik 0| f=1k 15 1k 12 1k 15k =R 15 1k 15 1k
5 | A | =ik 0| f=1k 15 1k 12 1k 15 1k 15 1k 15 1k 12 1k
6 | & | =ik 0| f=ik 12 1k 12 1k 15 1k 15 1k 15 1k 15 1k
[EN T 0| f=1k 151k 1% 1k 15k 151k 15 1k 121k
8 | H 15 1k 0| f=ik 12 1k 12 1k 15 1k 15 1k 15 1k 12 1k
9 | A s 0| f=1k 15 1k 12 1k 15k =R 15 1k 1% 1k
10 | k| =ik 0| f=1k 15 1k 12 1k 15 1k 15 1k 15 1k 15 1k
11| k| =ik 0| f=ik 12 1k 12 1k 15 1k 15 1k 15 1k 15 1k
12 | K| =ik 0| f=1k 151k 1% 1k 15k 151k 15 1k 121k
13| & | =ik 0| f=1k 15 1k 12 1k 15 1k 15 1k 15 1k 12 1k
14 | + | =ik 0| f=1k 15 1k 12 1k 15k =R 15 1k 1% 1k
15 | H 15 1k 0| f=1k 15 1k 12 1k 15 1k 15 1k 15 1k 12 1k
16 | A 15 1k 0| f=ik 12 1k 12 1k 15 1k 15 1k 15 1k 12 1k
17 | k| =ik 0| f=1k 151k 1% 1k 15k 151k 15 1k 121k
18 | & | =ik 0| f=1k 12 1k 12 1k 15 1k 15 1k 15 1k 12 1k
19 | K| =ik 0| f=1k 12 1k 12 1k 15k =R 15 1k 1% 1k
20 | & | ik 0| f=1k 15 1k 12 1k 15 1k 15 1k 15 1k 15 1k
21 | | =ik 0| f=ik 12 1k 12 1k 15 1k 15 1k 15 1k 15 1k
22 | H 15 1k 0| f=1k 151k 1% 1k 15k 151k 15 1k 121k
23 | A 15 1k 0| f=ik 12 1k 12 1k 15 1k 15 1k 15 1k 12 1k
24 | k| =ik 0| f=1k 15 1k 12 1k 15k =R 15 1k 1% 1k
25 | k| Ik 0| f=1k 15 1k 12 1k 15 1k 15 1k 15 1k 15 1k
26 | A | =ik 0| f=ik {2 1k 12 1k 15 1k 15 1k 15 1k 15 1k
27 | & | ik 0| f=1k 151k 1% 1k 15k 151k 15 1k 121k
28 | + | ik 0| f=1k 15 1k 12 1k 15 1k 15 1k 15 1k 12 1k
29 | H 15 1k 0| f=1k 15 1k 12 1k 15k =R 15 1k 1% 1k
30 | A 15 1k 0| f=1k 15 1k 12 1k 15k 15 1k 15 1k 15 1k
31 | k| Ik 0| f=ik 12 1k 12 1k 15 1k 15 1k 15 1k 15 1k
1 h ik K — 0 0 0 0 0 0 0 0
1 h fif f /) — 0 0 0 0 0 0 0 0
N — 0 0 0 0 0 0 0 0
& Bt — 0 — — — — — — —
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HLAL — ton C C ppm ppm mg/Nm3 ppm ppm
& PRAE — — 800LL F [ 20084 F | 100LAF | 2084 F | 208AF | 2580 F | 56LAF
1 | & 5 1k 0 =ik 2 1k 2 1k 2 1k 2 1k 5 1k 2 1k
2 | - 12 1k 0 =ik 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
3 | H 5 1k 0 =ik 2 1k 2 1k 2 1k = 1k 5 1k 2 1k
4 | H 2 1k 0 =ik 12 1k 12 1k 12 1k 12 1k 2 1k 12 1k
5 |k & 1k 0 =ik 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
6 | K 2 1k 0 =ik 2 1k 2 1k 2 1k 2 1k 5 1k 2 1k
7K 12 1k 0 =ik 12 1k 12 1k 1= 1k 1= 1k 12 1k 12 1k
8 | & 5 1k 0 =ik 2 1k 2 1k 2 1k = 1k 5 1k 2 1k
9 | + 2 1k 0 =ik 12 1k 12 1k 12 1k 12 1k 2 1k 12 1k
10 | A [ Iy 95 | F-FEIR 1 | A MR IR | - PR IR | B IR P | A BRI | A B IR
11 | A [ 7w 182 920 190 1 5 0 15 32
12 | k| /IRy 183 916 190 0 7 0 16 35
13 | A | /TRy 180 917 190 0 7 0 15 35
14 | A | /iRy 181 918 191 0 7 0 17 37
15 | & | \i&Y 182 914 191 0 6 0 17 36
16 | + [ Ik 187 918 191 0 6 0 17 38
17 | A [ 7Y 178 920 191 0 6 0 16 35
18 | A | AIk® 178 920 191 1 6 0 17 37
19 | k| /IRy 189 918 192 1 6 0 15 36
20 | K | AR 178 926 189 1 6 0 16 37
21 | K | AR 189 922 188 1 6 0 16 38
22 | & | AR 185 914 190 1 7 0 17 38
23 | & | "W 186 915 190 1 6 0 16 37
24 | B | oIk 186 924 189 1 6 0 14 37
25 | H | AR 187 919 189 1 6 0 16 37
26 | k| AR 190 917 191 1 8 0 17 30
27 | K | "BRY 186 920 190 1 6 0 16 33
28 | K | "Ik 192 922 189 1 7 0 16 35
20 | & | AR 191 922 188 1 6 0 16 37
30 | + | "Ik 192 925 191 1 6 0 16 35
1 h iR K — 192 945 203 4 12 0 20 43
1 h {5/ — 0 897 177 0 2 0 7 8
S — 127 919 190 1 6 0 16 36
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HiAL — ton T C ppm ppm mg/Nm3 ppm ppm
& PRAE — — 800LL F [ 20084 F [ 100LA R | 2084 F | 2084 F | 2584 F | 56LAF
1 [ & | \IRRY 174 936 190 2 7 0 16 29
2 |+ | Iy 177 923 191 2 8 0 16 28
3 H | Al 168 929 190 2 8 0 16 31
4 | H [ iy 174 930 190 2 7 0 16 32
5 | k| "By 180 926 191 2 8 0 16 31
6 | K | AIRRY 174 923 191 2 6 0 16 33
7R | AR 174 926 191 2 6 0 16 35
8 | & | My 173 926 190 2 7 0 16 34
9 | + [ Ty 173 925 190 2 7 0 15 31
10| H | /&Y 125 834 189 31 6 0 14 49
11 | H 2 1k 0] =ik 2 1k 1= 1k 2 1k 2 1k 2 1k 2 1k
12 | k 12 1k 0] =ik 1= 1k 1= 1k 12 1k 12 1k 12 1k 1= 1k
13 | Kk 2 1k 0] =ik 2 1k = 1k 5 1k 2 1k 2 1k 2 1k
14 | K 12 1k 0] =ik 12 1k 12 1k 2 1k 12 1k 12 1k 12 1k
15 | & 2 1k 0| {81k 1= 1k 1= 1k 12 1k 12 1k 1= 1k 1= 1k
16 | | =ik 0] =ik 2 1k 2 1k 2 1k 2 1k 2 1k 2 1k
17 | H 12 1k 0] =ik 1= 1k 1= 1k 12 1k 12 1k 12 1k 1= 1k
18 | H 2 1k 0] =ik 2 1k = 1k 5 1k 2 1k 2 1k 2 1k
19 | k 12 1k 0] =ik 12 1k 12 1k 2 1k 12 1k 12 1k 12 1k
20 | /& 121k 0| {81k 1= 1k 1= 1k 12 1k 12 1k 1= 1k 1= 1k
21 | K 2 1k 0] =ik 2 1k = 1 2 1k 2 1k 2 1k 2 1k
22 | & | Bk 0] =ik 1= 1k 1= 1k 12 1k 12 1k 12 1k 1= 1k
23 | + | 51k 0] =ik 2 1k = 1 5 1k 2 1k 2 1k 2 1k
24 | H 12 1k 0] =ik 12 1k 12 1k 2 1k 12 1k 12 1k 12 1k
25 | A 2 1k 0| {81k 1= 1k 1= 1k 12 1k 12 1k 1= 1k 1= 1k
26 | :k 2 1k 0] =ik 2 1k 1= 1k 2 1k 2 1k 2 1k 2 1k
27 | Kk 12 1k 0] =ik 1= 1k 1= 1k 12 1k 12 1k 12 1k 1= 1k
28 | K 2 1k 0] =ik 2 1k = 1k 5 1k 2 1k 2 1k 2 1k
29 | & | Bk 0] =ik 12 1k 12 1k 2 1k 12 1k 12 1k 12 1k
30 | + | b 0| {81k 1= 1k 1= 1k 12 1k 12 1k 1= 1k 1= 1k
1 h iR K — 180 956 192 3 11 0 18 42
1 h {5/ — 0 903 188 1 1 0 4 19
Ty — 56 918 190 5 7 0 16 33
& Bt — 1692 — — — — — — —
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